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QUESTION 1

You want an instance in your compartment to make API calls to other services within Oracle Cloud 

Infrastructure without storing credentials in a configuration file. 

What do you need to do? 

A. No action is required. By default, all VM instances are created with an Instance Principal. 

B. Instances cannot access services outside their compartment. 

C. VM instances are treated as users. Create a user and assign the user to that VM instance. 

D. Create appropriate matching rules in the Dynamic Group to create an Instance Principal. 

Correct Answer: D 

References: https://docs.cloud.oracle.com/iaas/Content/Identity/Tasks/managingdynamicgroups.htm 

 

QUESTION 2

What happens after you successfully run the following command on your Oracle Cloud Infrastructure Container Engine
for Kubernetes (OKE) using the YAML file defined below? kubectl create -f definition.yml YAML file ?definition.yml 

A. A single Pod with a single container is created. 

B. Two Pods with a container each are created. 

C. A single Pod with two containers is created. 

D. No Pod gets created. 
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Correct Answer: C 

 

QUESTION 3

Which statement is NOT true about the Oracle Cloud Infrastructure Object Storage service? 

A. Object storage resources can be shared across tenancies. 

B. Immutable option for data stored in the Object Storage can be set via retention rules. 

C. Object versioning is enabled at namespace level. 

D. Object lifecycle rules can be used to either archive or delete objects. 

Correct Answer: B 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Object/Tasks/usingversioning.htm 

 

QUESTION 4

Which two statements are true about policies? 

A. You can use read, write, manage, and inspect as verbs for defining a policy. 

B. A policy is a document that specifies who can access which Oracle Cloud Infrastructure resources that your company
has, and how. 

C. Users need not do anything but still have to be added to a group with appropriate policies defined. 

D. You can deny access to a group via policies. 

Correct Answer: BC 

 

QUESTION 5

You create an autoscaling configuration of Linux compute instances in Oracle Cloud Infrastructure (OCI). 

You noticed that your application is running slow. After checking your compute instances, you noticed that 

autoscaling is not launching additional instances, 

even though the existing compute instances already have high memory usage. 

How can you resolve this issue? 

A. Modify the scaling policy to monitor memory usage and scale up the number of instances when it meets the
threshold. 

B. Modify the scaling policy to monitor CPU usage and scale up the number of instances when it meets the threshold. 

C. Install the monitoring agent to all compute instances which will trigger the autoscaling group. 
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D. Install OCI SDK in all compute instances and create a script that will trigger the autoscaling event if there is high
memory usage. 

Correct Answer: B 
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